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7 100kN/mM%E#8Z % — - ~ — —|3mZEBABD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ B - ~ — — —
st 1.00 | 000 ~ 711 90.34 | FnRS | 000 ~ 7.11| 1.95 9.85 ThLst 1.00 | .00 ~ 9.70 90.34 | =hH | 5.00 ~ 9.70| 1.95 9.85
2 100kN/mM%E#BZ 5 — - ~ — —|3mEBZBH| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3mZE#BZD - ~ — — —
ZhLst 1.00 | 0.00 ~ 769 98.59 | =ns | 000 ~ 769 2.26 11.44 Fnst 1.00 | 5.00 ~ 1040 98569 | #nLst | 5,00 ~ 1040| 2.26 11.44
3 100kN/mM%E#BZ 5 — - ~ — —|3mEB2BH| — ~ — — — | 100kN/m#%#8% % — - ~ — — | 3mZE#BZD - ~ — — —
st 1.00 | 000 ~ 684 86.51 | #nS | 000 ~ 684 | 1.84 9.28 ThList 1.00 | 5.00 ~ 850 86.561 | #hs | 5,00 ~ 850 1.84 9.28
4 100kN/m%z#8z5 | 1.00 | 000 ~ 087 11305 |3mZz#Z3| — ~ — — — | 100kN/m%E#25 | 1.00 | 11.82 ~ 1557 113.05 |3mEEZS - ~ — — —
st 1.00 | 0.87 ~ 866 100.00 | #nLst | 0.00 ~ 866|215 10.85 ThLst 1.00 | 6.00 ~ 1182 100.00 | =nLst | 6,00 ~ 1557|215 10.85
5 100kN/ Mz 25| 1.00 | 000 ~ 236 13683 |3mx#z3| — ~ — — — | 100kN/m%i#825 | 1.00 | 1058 ~ 21.11 136.83 [3mZz#Z 5 - ~ — — —
ThList 1.00 | 236 ~ 1014 100.00 | FnLSt | 0.00 ~ 1014 2.65 13.37 ThList 1.00 | 6.00 ~ 1058 100.00 | =nhLst | .00 ~ 2111| 2.65 13.37
P 100kN/m%E#8z5 | 1.00 | 000 ~ 268 14224 |3mZxE#Z3| — ~ — — — | 100kN/mM%&#82% | 1.00 | 1066 ~ 2237| 14224 |3m&E#BZ% - ~ — — —
zhLst 1.00 | 268 ~ 1047 100.00 | #hst | 0.00 ~ 1047| 2.81 14.20 Fnst 1.00 | 6.00 ~ 10.66 100.00 | 0S| 6.00 ~ 2237| 2.81 14.20
7 100kN/m%E#8%% | 1.00 | 000 ~ 263 14145 |3mEBZB| — ~ — — — | 100kN/ %825 | 1.00 | 1066 ~ 2200| 14145 |3mE#BZ% - ~ — — —
ThLlst 1.00 | 263 ~ 1042 100.00 | ThLS | 000 ~ 1042| 2.81 14.22 TnList 1.00 | 5.00 ~ 1066 100.00| FhLS | 5,00 ~ 2200| 2.81 14.22
P 100kN/m%Z#Bz25% | 1.00 | 000 ~ 287\ 145561 |3mxEB2B| — ~ — — — | 100kN/m%E#BZ25 | 1.00 | 1090 ~ 2428 145.51 |3mE#BZ5 - ~ — — —
ThLlst 1.00 | 287 ~ 166 100.00 | NS | 000 ~ 1066] 2.88 14.57 TnList 1.00 ] 500 ~ 1090 100.00| ThLS | 5,00 ~ 2428 2.88 14.567
9 100kN/m%E#z25| 1.00| 000 ~ 203 15133 |3m&EEZE| — ~ — — — | 100kN/m%E#Z25 | 1.00 | 1064 ~ 1804 131.33 |3mE#EZS - ~ — — —
ThLlst 1.00 | 203 ~ 9.81 100.00 | #hst | 000 ~ 981 | 2.46 12.42 TnList 1.00 ] 5.00 ~ 1064 100.00| TN | 5,00 ~ 1804| 2.46 12.42
10 100kN/m%E#Bz25| 1.00| 000 ~ 1.72| 12640 |3m&EEZE| — ~ — — — | 100kN/m%#z25 | 1.00 | 1061 ~ 17.08| 126.40 |3mE#BZ5 - ~ — — —
ThLlst 100|172 ~ 951 100.00 | #hst | 000 ~ 951 | 2.31 11.67 TnList 1.00 | 500 ~ 1061 100.00 | #helst | 5.00 ~ 17.08| 2.31 11.67
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ Zzhust ~ Zzhust ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm% 25 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD . 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% A5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEAD ~
zhsn ~ ZznLst ~ ZzhLst ~ Zzhust ~
100kN/ Mm% Z 5 ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZnLst ~ ZhLst ~ Zzhust ~




